
vr{ zLif{svr{ zLif{svr{ zLif{svr{ zLif{s jflif{s ah]^jflif{s ah]^jflif{s ah]^jflif{s ah]^ of] dlxgfsf] vr{of] dlxgfsf] vr{of] dlxgfsf] vr{of] dlxgfsf] vr{ of] dlxgf ;Ddsf] vr{of] dlxgf ;Ddsf] vr{of] dlxgf ;Ddsf] vr{of] dlxgf ;Ddsf] vr{ ah]^ afFsLah]^ afFsLah]^ afFsLah]^ afFsL

s - rfn' vr{ 158971000 0 0 1.59E+08

1 - pkef]u vr{ 68796000 0 0 68796000

1.01 - tna 53246000 0 0 53246000

1.01.1 - tna sd{rf<L 42000000 0 0 42000000

1.01.2 - kbflwsf<L kfl<>lds 100000 0 0 100000

1.01.3 - sd{rf<L sNof)f sf]if 10000000 0 0 10000000

1.01.4 - ladf lk|ldod vr{ 346000 0 0 346000

1.01.5 - ;_lrt ljbf vr{ 800000 0 0 800000

1.02 - eQf 10600000 0 0 10600000

1.02.1 - sd{rf<L eQf 10100000 0 0 10100000

1.02.1.1 - :yfgLo rf*kj{ k|f]T;fxg eQf 6500000 0 0 6500000

1.02.1.2 - vfhf eQf 1100000 0 0 1100000

1.02.1.3 - ljz]if eQf 2300000 0 0 2300000

1.02.1.4 - cGo eQf 200000 0 0 200000

1.02.2 - kbflwsf<L eQf 200000 0 0 200000

1.02.3 - a}&s eQf 300000 0 0 300000

1.03 - ;¿jf e|d)f vr{ tyf b}lgs eQf 100000 0 0 100000

1.04 - kf]zfs 1500000 0 0 1500000

1.05 - vfBfGg tyf cfxf<. 1300000 0 0 1300000

1.06 - cf}ifwL pkrf< 2000000 0 0 2000000

1.07 - ;]jf lgj[Q ;'ljwf 0 0 0 0

1.08 - tflnd sfo{qmd vr{ 50000 0 0 50000

11 - Aofh e'QmfgL 0 0 0 0

11.01 - cfGtl<s C)fsf] Aofh e'QmfgL 0 0 0 0

11.02 - afXo C)fsf] Aofh e'QmfgL 0 0 0 0

12 - lkmtf{ vr{ 500000 0 0 500000

2 - sfof{no ;~rfng < ;]jf vr{ 21375000 0 0 21375000

2.01 - kfgL tyf lah'nL dxz'n 100000 0 0 100000

2.02 - ;~rf< dxz'n 300000 0 0 300000

2.03 - sfof{no ;~rfng ;DjGwL vr{ 9025000 0 0 9025000

2.03.1 - lr&L kf;{n cflb 75000 0 0 75000

2.03.2 - ;"rgf 1500000 0 0 1500000

2.03.3 - a}s b:t'< 50000 0 0 50000

2.03.4 - Ps jif{eGbf sd l^sfp ;fdfg 4500000 0 0 4500000

2.03.5 - %kfO{ 2000000 0 0 2000000

2.03.6 - kq klqsf k':ts 300000 0 0 300000

2.03.7 - uf*L ejg d]lzg<L ;fdfgsf] ljdf 50000 0 0 50000

2.03.8 - ('jfgL vr{ 50000 0 0 50000

2.03.9 - utjif{sf] e'QmfgL lbg afFsL rfn' 500000 0 0 500000

2.04 - ef*f 900000 0 0 900000

2.04.1 - #< ef*f 700000 0 0 700000

2.04.2 - cGo ef*f 200000 0 0 200000

2.05 - dd{t tyf ;_ef< 500000 0 0 500000

2.06 - OGwg tyf cGo OGwg 2550000 0 0 2550000

jL<u~h pk-dxfgu<kflnsf,jL<u~h, k;f{ jL<u~h pk-dxfgu<kflnsf,jL<u~h, k;f{ jL<u~h pk-dxfgu<kflnsf,jL<u~h, k;f{ jL<u~h pk-dxfgu<kflnsf,jL<u~h, k;f{ 

cfly{s jif{ 2072/2073 cfly{s jif{ 2072/2073 cfly{s jif{ 2072/2073 cfly{s jif{ 2072/2073 

>fj)f dlxgf >fj)f dlxgf >fj)f dlxgf >fj)f dlxgf 

2072/2073 sf] dfl;s vr{sf] kmfF^jf<L2072/2073 sf] dfl;s vr{sf] kmfF^jf<L2072/2073 sf] dfl;s vr{sf] kmfF^jf<L2072/2073 sf] dfl;s vr{sf] kmfF^jf<L



2.06.1 - ;jf<L OGwg kbflwsf<L 300000 0 0 300000

2.06.2 - ;jf<L OGwg sd{rf<L 1000000 0 0 1000000

2.06.3 - cGo OGwg 50000 0 0 50000

2.06.4 - h]g<]^< OGwg 1200000 0 0 1200000

2.07 - k<fdz{ tyf cGo ;]jf z'Ns 4000000 0 0 4000000

2.07.1 - k<fdz{ z'Ns 4000000 0 0 4000000

2.07.1.01 - n]vf kl<If)f z'Ns 700000 0 0 700000

2.07.1.02 - sfg'gL k<fdz{ z'Ns œax; k}<jLœ 800000 0 0 800000

2.07.1.03 - cWog tyf cg';Gwfg z'Ns/;fdflhs kl<If)f/;fj{hlgs ;'g'jfO{ ;d]t 1500000 0 0 1500000

2.07.1.04 - k|f]befjL n]vf k|)ffnL sfof{Gjog 1000000 0 0 1000000

2.07.2 - ;<;kmfO{ tyf cGo ;]jf z'Ns 0 0 0 0

2.08 - ljljw vr{ 4000000 0 0 4000000

2.08.1 - ;b:otf z'Ns 500000 0 0 500000

2.08.2 - cfly{s ;xfotf 100000 0 0 100000

2.08.3 - k'<:sf< 400000 0 0 400000

2.08.4 - kl<ifb\ ;~rfng vr{ 500000 0 0 500000

2.08.5 - ljljw vr{ 2500000 0 0 2500000

2.08.5.01 - dgf]<_hg k|bz{g lrofkfg ef]h 700000 0 0 700000

2.08.5.02 - cltly ;Tsf< 1000000 0 0 1000000

2.08.5.03 - k'hf cfhf 400000 0 0 400000

2.08.5.04 - lzif{sdf gk<]sf ljljw vr{ 400000 0 0 400000

2.08.5.05 - sd{rf<L tyf kbflwsf<L e|d)fsf] e}k<L 0 0 0 0

3 - cg'bfg 1000000 0 0 1000000

3.01 - ;fj{hlgs ;_:yfnfO{ cg'bfg rfn' 500000 0 0 500000

3.02 - uf=lj=;= tyf gu<kflnsfnfO{ cg'bfg 0 0 0 0

3.03 - ;fdflhs ;_:yfnfO{ cg'bfg 500000 0 0 500000

3.04 - ;fdflhs ;'<Iff cg'bfg 0 0 0 0

4 - ;]jf tyf sfo{qmd vr{ 67200000 0 0 67200000

4.01 - pTkfbg ;fdfu|L/;]jf 0 0 0 0

4.02 - cf}ifwL tyf c:ktfn ;~rfng vr{ 500000 0 0 500000

4.03 - k':ts tyf ;fdfu|L 200000 0 0 200000

4.04 - ;fdflhs ;'<Iff eQf 65000000 0 0 65000000

4.05 - sfo{qmd e|d)f vr{ 1500000 0 0 1500000

4.05.1 - sfo{qmd e|d)f vr{ kbflwsf<L 300000 0 0 300000

4.05.2 - sfo{qmd e|d)f vr{ sd{rf<L 1200000 0 0 1200000

4.06 - lgld{t ;fj{hlgs ;DklQsf] ;Def< vr{ 0 0 0 0

4.07 - gu<sf] ;<;kmfO{ tyf kmf]xf]<d}nf Joj:yfkg vr{ 0 0 0 0

4.08 - bdsn tyf PDa'n]G; ;~rfng vr{ 0 0 0 0

4.09 - ;*s aQL dxz'n vr{ 0 0 0 0

9.01 - e}k<L cfpg] vr{ rfn' 100000 0 0 100000

s1 - k|zf;lgs vr{ 0 0 0 0

u - afXo >f]t tkm{sf] vftfx? 0 0 0 0

u.1 - zx<L :jf:Yo lSnlgs 0 0 0 0

u.1.1 - zx<L :jf:Yo lSnlgs sd{rf<L tna 0 0 0 0

u.1.2 - zx<L :jf:Yo lSnlgs #<ef*f 0 0 0 0

u.1.3 - zx<L :jf:Yo ;DalGw cGo vr{ 0 0 0 0

u.1.4 - zx<L :jf:Yo lSnlgs ejg lgdf{)f 0 0 0 0

u.2 - ldgfahf< lgdf{)f tyf d=z=P=z=jf=;'=cf= 0 0 0 0

u.2.1 - ldgfahf< lgdf{)f ;DaGwL vr{ 0 0 0 0



u.2.2 - g=lj=sf]= C)f lgsf;f d=z=P=z=jf=;'=cf= 0 0 0 0

u.2.3 - DoflrË km)* d=z=P=z=jf=;'=cf=/ldgfahf< lgdf{)f 0 0 0 0

u.2.4 - ldgfahf< g=lj=sf]= C)fsf] ;fFjf tyf Aofh 0 0 0 0

u.2.5 - d=z=P=z=jf=;'=cf= g=lj=sf]= C)fsf] ;fFjf tyf Aofh 0 0 0 0

u.3 - sd{rf<L sNof)fsf]if 0 0 0 0

u.3.1 - sd{rf<L pkbfg 0 0 0 0

u.3.2 - sd{rf<L ;_lrt ljbf 0 0 0 0

u.3.3 - sd{rf<L pkrf< vr{ 0 0 0 0

u.3.4 - #<;fk^L a(L s§L lkmtf{ 0 0 0 0

u.3.5 - s=s=sf]if a(L s§L lkmtf{ 0 0 0 0

u.4 - k'FhLut dd{t ;_ef< 0 0 0 0

u.4.1 - dd{t ;_ef< vr{ 0 0 0 0

u.4.2 - ;*s af]*{ dd{t 0 0 0 0

u.4.3 - ;*saf]*{ utjif{sf] cw'<f] of]hgfsf] e'QmfgL lbgafFsL 0 0 0 0

u.5 - jL<u_h a; ^ld{gn lgdf{)f 0 0 0 0

u.5.1 - DoflrË km)* jL<u_h a; ^ld{gn 0 0 0 0

u.6 - cfbz{gu< <_uzfnf lgdf{)f 0 0 0 0

u.6.1 - DoflrË km)* cfbz{gu< <_uzfnf lgdf{)f 0 0 0 0

u.6.2 - g=lj=sf]= C)f lgsf;f cfbz{gu< <_uzfnf 0 0 0 0

u.6.3 - g]kfn ;<sf< cg'bfg cfbz{gu< <_uzfnf 0 0 0 0

v - k"FhLut vr{ 791087000 0 0 7.91E+08

10 - ;fFjf tyf Aofh e'QmfgL 7500000 0 0 7500000

10.01 - cfGtl<s C)fsf] ;fFjf e'QmfgL 7500000 0 0 7500000

10.02 - afXo C)fsf] ;fFjf e'QmfgL 0 0 0 0

5 - k"FhL ^«fG;km< vr{ 0 0 0 0

5.01 - hUuf vl<b 0 0 0 0

5.02 - ejg vl<b 0 0 0 0

6 - k"FhL lgdf{)f vr{ 782587000 0 0 7.83E+08

6.01 - kmlg{r< 500000 0 0 500000

6.02 - ;jf<L ;fwg vl<b 5000000 0 0 5000000

6.03 - d]zLg<L cf}hf< tyf cGo pks<)f 2800000 0 0 2800000

6.03.01 - lah'nL k|fljlws ;"rgf k|ljlw ul)flto ;fdfg 2500000 0 0 2500000

6.03.02 - l*hfOg *«OË nufot k|fljlws 300000 0 0 300000

6.04 - ejg lgdf{)f 1000000 0 0 1000000

6.05 - ;fj{hlgs lgdf{)f vr{ 315700000 0 0 3.16E+08

6.05.01 - cfbz{gu< <_uzfnfsf] dd{t ;'wf< sfo{ 1400000 0 0 1400000

6.05.01.01 - cfbz{gu< <_uzfnf g]kfn ;<sf< cg'bfg 60Ü 840000 0 0 840000

6.05.01.02 - cfbz{gu< <_uzfnf gu< ljsf; sf]if C)f 30Ü 420000 0 0 420000

6.05.01.03 - cfbz{gu< <_uzfnf g=kf= DoflrË km)* 10Ü 140000 0 0 140000

6.05.02 - v'nf lbzf d'Qm sfo{qmd cf]=l*=Pkm= 0 0 0 0

6.05.03 - dsfn' xf]^n b]vL uLtf dlGb< eO{ dfO{:yfg rf]s ;Dd km'^kfy tyf ;*s 0 0 0 0

6.05.03.01 - dsfn' xf]^n b]vL km'^kfy < ;*s :t<f]GgtL g]kfn ;<sf< cg'bfg 60Ü 0 0 0 0

6.05.03.02 - dsfn' xf]^n b]vL km'^kfy < ;*s :t<f]GgtL gu< ljsf; sf]if C)f 30Ü 0 0 0 0

6.05.03.03 - dsfn' xf]^n b]vL km'^kfy < ;*s :t<f]GgtL g=kf= DoflrË km)* 10Ü 0 0 0 0

6.05.04 - g<l;_x df=lj=sf] ejg :yfgfGt<)f 0 0 0 0

6.05.05 - cw'<f] of]hgfsf] e'QmfgL lbg' kg]{ afsL <sd 50000000 0 0 50000000

6.05.06 - ;*s af]*{ g]kfn-;*s dd{t sfo{ 25150000 0 0 25150000

6.05.06.01 - ;*s af]*{ g]kfn cg'bfg 70Ü 17605000 0 0 17605000

6.05.06.02 - ;*s af]*{ g=kf= DoflrË km)* 30Ü 7545000 0 0 7545000



6.05.07 - s[lif ;*s cfof]hgf 0 0 0 0

6.05.08 - ldgfahf< ;'wf< tyf (n lgdf{)f 15000000 0 0 15000000

6.05.08.01 - ldgfahf< gu<ljsf; sf]if C)f 90Ü 13500000 0 0 13500000

6.05.08.02 - ldgfahf< g]kfn ;<sf< cg'bfg 7.5Ü 1125000 0 0 1125000

6.05.08.03 - ldgfahf< g=kf= DoflrË km)* 2.5Ü 375000 0 0 375000

6.05.09 - jL<u_h a; ^ld{gn lgdf{)f 29850000 0 0 29850000

6.05.09.01 - jL<u_h a; ^ld{gn gu< ljsf; sf]if C)f 90Ü 26865000 0 0 26865000

6.05.09.02 - jL<u_h a; ^ld{gn g]kfn ;<sf< cg'bfg 7.5Ü 2238750 0 0 2238750

6.05.09.03 - jL<u_h a; ^ld{gn g=kf= DoflrË km)* 2.5Ü 746250 0 0 746250

6.05.10 - hu]*fsf]ifsf] of]hgf 40000000 0 0 40000000

6.05.10.01 - hu]*fsf]if ;_#Lo dfldnf tyf :yf=lj=d_= cg'bfg 31300000 0 0 31300000

6.05.10.02 - hu]*fsf]if g=kf= DoflrË km)* 8700000 0 0 8700000

6.05.12 - afnaflnsf ;DalGw nlIft ;d'x 13100000 0 0 13100000

6.05.12.01 - afnaflnsf k"jf{wf< ljsf; 65Ü 6550000 0 0 6550000

6.05.12.02 - afnaflnsf ;fdflhs/Ifdtf ljsf; 15Ü 2800000 0 0 2800000

6.05.12.03 - afnaflnsf cfly{s/;Lk ljsf; 15Ü 2200000 0 0 2200000

6.05.12.04 - afnaflnsf ;_:yfut ljsf; 5Ü 1550000 0 0 1550000

6.05.13 - dlxnf ;DalGw nlIft ;d'x 13100000 0 0 13100000

6.05.13.01 - dlxnf k"jf{wf< ljsf; 65Ü 6550000 0 0 6550000

6.05.13.02 - dlxnf ;fdflhs/Ifdtf ljsf; 15Ü 2300000 0 0 2300000

6.05.13.03 - dlxnf cfly{s/;Lk ljsf; 15Ü 3050000 0 0 3050000

6.05.13.04 - dlxnf ;_:yfut ljsf; 5Ü 1200000 0 0 1200000

6.05.14 - cflbjf;L hghftL blnt ;d'x 19800000 0 0 19800000

6.05.14.01 - cflbjf;L hghflt blnt k"jf{wf< ljsf; 65Ü 9900000 0 0 9900000

6.05.14.02 - cflbjf;L hghflt blnt ;fdflhs/Ifdtf ljsf; 15Ü 4100000 0 0 4100000

6.05.14.03 - cflbjf;L hghflt blnt cfly{s/;Lk ljsf; 15Ü 3900000 0 0 3900000

6.05.14.04 - cflbjf;L hghflt blnt ;_:yfut ljsf; 5Ü 1900000 0 0 1900000

6.05.15 - k'jf{wf< of]hgf 66000000 0 0 66000000

6.05.16 - k|j{$gfTds 18300000 0 0 18300000

6.05.17 - DoflrË km)* 0 0 0 0

6.05.18 - vfg]kfgL h*fg dd{t 1500000 0 0 1500000

6.05.19 - o'lg;]km 18000000 0 0 18000000

6.05.19.1 - afnd}qL sfo{qmd 2500000 0 0 2500000

6.05.19.2 - vfg]kfgL ;<;kmfO{ tyf :jR%tf sfo{qmd 6500000 0 0 6500000

6.05.19.3 - afn>d pGd"ng sfo{qmd 6500000 0 0 6500000

6.05.19.4 - jftfj<)fd}qL :yfgLo zf;g 1500000 0 0 1500000

6.05.19.5 - ljkt hf]lvd Go"gLs<)f 1000000 0 0 1000000

6.05.20 - yk gofF 11 j*fx?sf] sd{rf<L tyf of]hgfx?sf] lhDd]jf<L ;<L cfPsf] 2500000 0 0 2500000

6.05.21 - u)*s rf}s glhs t<sf<L ahf<sf] ;]*#< lgdf{)f 0 0 0 0

6.05.21.1 - u)*s rf}s t<sf<L ahf< ;]*#< g]kfn ;<sf< cg'bfg 60Ü 0 0 0 0

6.05.21.2 - u)*s rf}s t<sf<L ahf< ;]*#< gu< ljsf; sf]if C)f 30Ü 0 0 0 0

6.05.21.3 - u)*s rf}s t<sf<L ahf< ;]*#< g=kf= DoflrË km)* 10Ü 0 0 0 0

6.05.22 - o'=Pg= x]lj^\of^ 2000000 0 0 2000000

6.05.22.1 - vfg]kfgL ;<;kmfO{ tyf :jR%tf sfo{qmd-cf]=l*=Pkm= 1000000 0 0 1000000

6.05.22.2 - ;<;kmfO{ sfo{qmd 1000000 0 0 1000000

6.06 - k"FhLut ;'wf< vr{ 456587000 0 0 4.57E+08

6.06.01 - demf}nf zx< PsLs[t zx<L jftfj<)fLo ;'wf< cfof]hgf 257971000 0 0 2.58E+08

6.06.01.1 - hUuf vl<b - 10Ü 1487000 0 0 1487000

6.06.01.2 - sfof{no ;_rfng vr{ - 30Ü 3747000 0 0 3747000



6.06.01.3 - ;-;fgf lgdf{)f pks<)f hgr]tgf ;fd"bflos ljsf; ;L=*L=kL=-19Ü 2337000 0 0 2337000

6.06.01.4 - ;-;fgf lgdf{)f < pks<)f P;=*An'=Pd=-8Ü 11200000 0 0 11200000

6.06.01.5 - lgdf{)f sfo{ - 8Ü 96000000 0 0 96000000

6.06.01.6 - g=lj=sf]= C)f œd=z=P=z=jf=;'=cf=º 143200000 0 0 1.43E+08

6.06.01.7 - g=lj=sf]= DoflrË km)* 8Ü Kofs]h-2 11Ü Kofs]h-1 0 0 0 0

6.06.02 - jftfj<)f ;'wf< tyf gu< ;<;kmfO{ sfo{qmd 95982000 0 0 95982000

6.06.02.01 - ;<;kmfO{ sd{rf<L kfl<>lds 57500000 0 0 57500000

6.06.02.02 - vfhf eQf-;<;kmfO{ 1700000 0 0 1700000

6.06.02.03 - ljz]if eQf-;<;kmfO{ 3200000 0 0 3200000

6.06.02.04 - kf]zfs eQf-;<;kmfO{ 2000000 0 0 2000000

6.06.02.05 - :yfgLo rf*kj{ k|f]T;fxg eQf - ;<;kmfO{ 7500000 0 0 7500000

6.06.02.06 - ;<;kmfO{ OGwg tyf cGo OGwg 3000000 0 0 3000000

6.06.02.07 - ;<;kmfO{ ;fdu|L vl<b 1500000 0 0 1500000

6.06.02.08 - ;<;kmfO{ ;fwg dd{t ;_ef< 3500000 0 0 3500000

6.06.02.09 - ladf lk|ldod vr{-;<;kmfO{ 482000 0 0 482000

6.06.02.10 - sd{rf<L sNof)fsf]if-;<;kmfO{ 6000000 0 0 6000000

6.06.02.11 - ;_lrt ljbf-;<;kmfO{ 2500000 0 0 2500000

6.06.02.12 - pkrf< vr{ -;<;kmfO{ 2500000 0 0 2500000

6.06.02.13 - ;<;kmfO{ sd{rf<L OGwg 200000 0 0 200000

6.06.02.14 - ljljw OGwg -;<;kmfO{ 2000000 0 0 2000000

6.06.02.15 - ljz]if ;<;kmfO{ eQf 100000 0 0 100000

6.06.02.16 - ljz]if gfnf ;<;kmfO{ tyf clts|d)f Joj:yfkg 1200000 0 0 1200000

6.06.02.17 - ;<;kmfO{ ;fwg vl<b 500000 0 0 500000

6.06.02.18 - tflnd tyf cWog e|d)f - ;<;kmfO{ 49000 0 0 49000

6.06.02.19 - hgr]tgf sfo{qmd -;<;kmfO{ 51000 0 0 51000

6.06.02.20 - ;fj{hlgs lghL ;fem]bf<L sfo{qmd -lk.lk.lk. 500000 0 0 500000

6.06.03 - vfB tyf u')f:t< lgoGq)f sfo{qmd 320000 0 0 320000

6.06.03.01 - vfB sd{rf<L kfl<>lds 0 0 0 0

6.06.03.02 - sd{rf<L sNof)fsf]if vfB 0 0 0 0

6.06.03.03 - ;_lrt labf - vfB 0 0 0 0

6.06.03.04 - ladf lk|ldod vr{-vfB 0 0 0 0

6.06.03.05 - :yfgLo rf*kj{ k|f]T;fxg eQf -vfB 0 0 0 0

6.06.03.06 - vfhf eQf - vfB 0 0 0 0

6.06.03.07 - kf]zfs eQf - vfB 0 0 0 0

6.06.03.08 - pkrf< vr{ - vfB 0 0 0 0

6.06.03.09 - vfB j:t'sf] gd"gf vl<b 20000 0 0 20000

6.06.03.10 - k|of]uzfnf pks<)f tyf <;fog vl<b vfB 200000 0 0 200000

6.06.03.11 - gd"gf ljZn]if)f vr{ - vfB 20000 0 0 20000

6.06.03.12 - a}&s tyf cg'udg eQf - vfB 50000 0 0 50000

6.06.03.13 - vfB hgr]tgf sfo{qmd 30000 0 0 30000

6.06.03.14 - ljz]if eQf - vfB 0 0 0 0

6.06.04 - cfunfuL lgoGq)f tyf k|sf]k Joj:yfkg sfo{qmd 15111000 0 0 15111000

6.06.04.01 - jf?)foGq ;_rfng Pj_ Joj:yfkg 9911000 0 0 9911000

6.06.04.01.01 - jf?)foGq sd{rf<L kfl<>lds 5000000 0 0 5000000

6.06.04.01.02 - sd{rf<L sNof)fsf]if - jf?)foGq 550000 0 0 550000

6.06.04.01.03 - ;_lrt ljbf - jf?)foGq 150000 0 0 150000

6.06.04.01.04 - ladf lk|ldod vr{ - jf?)foGq 46000 0 0 46000

6.06.04.01.05 - b'#{^gf ladf lk|ldod vr{ - jf?)foGq 25000 0 0 25000

6.06.04.01.06 - :yfgLo rf*kj{ k|f]T;fxg eQf - jf?)foGq 750000 0 0 750000



6.06.04.01.07 - vfhf eQf - jf?)foGq 150000 0 0 150000

6.06.04.01.08 - ljz]if eQf - jf?)foGq 300000 0 0 300000

6.06.04.01.09 - kf]zfs eQf - jf?)foGq 190000 0 0 190000

6.06.04.01.10 - vfBfGg tyf cfxf< - jf?)foGq 1500000 0 0 1500000

6.06.04.01.11 - pkrf< vr{ - jf?)foGq 150000 0 0 150000

6.06.04.01.12 - jf?)foGq OGwg tyf cGo OGwg 500000 0 0 500000

6.06.04.01.13 - jf?)foGq dd{t ;_ef< 300000 0 0 300000

6.06.04.01.14 - jf?)foGq ;fd|uL vl<b 200000 0 0 200000

6.06.04.01.15 - cGo ;fdu|L vl<b 100000 0 0 100000

6.06.04.02 - nfdv'§] tyf *]_u' lgoGq)f sfo{qmd 3000000 0 0 3000000

6.06.04.03 - *'afg If]q ljsf; sfo{qmd 500000 0 0 500000

6.06.04.04 - lzt nx< lgjf<)f sfo{qmd 100000 0 0 100000

6.06.04.05 - glb s^fg lgoGq)f sfo{qmd 1000000 0 0 1000000

6.06.04.06 - %f*f rf}kfof tyf e':ofxf af}nfxf s's'< lgoGq)f 500000 0 0 500000

6.06.04.07 - nfjfl<; nf; ;b\ut sfo{qmd 100000 0 0 100000

6.06.05 - blnt hghftL afnaflnsf lzIf)f sfo{qmd 3091000 0 0 3091000

6.06.05.01 - lzIfs tyf sd{rf<L kfl<>lds 1700000 0 0 1700000

6.06.05.02 - sd{rf<L sNof)fsf]if - hghftL 200000 0 0 200000

6.06.05.03 - ;_lrt ljbf - hghftL 50000 0 0 50000

6.06.05.04 - ladf lk|ldod vr{ - hghftL 16000 0 0 16000

6.06.05.05 - :yfgLo rf*kj{ k|f]T;fxg eQf - hghftL 200000 0 0 200000

6.06.05.06 - vfhf eQf - hghftL 40000 0 0 40000

6.06.05.07 - kf]zfs eQf - hghftL 60000 0 0 60000

6.06.05.08 - pkrf< vr{ - hghftL 50000 0 0 50000

6.06.05.09 - kf&\ok':ts tyf ;fd|uL vl<b 250000 0 0 250000

6.06.05.10 - ljwfyL{ kf]zfs 300000 0 0 300000

6.06.05.11 - kf}li^s cfxf< 50000 0 0 50000

6.06.05.12 - tflnd tyf cWoog e|d)f - hghftL 25000 0 0 25000

6.06.05.13 - kl<Iff ;_rfng vr{ - hghftL 25000 0 0 25000

6.06.05.14 - a]Gr *]S; dd{t tyf cGo vr{ 25000 0 0 25000

6.06.05.15 - ljB't dxz'n - hghftL 25000 0 0 25000

6.06.05.16 - ljz]if eQf - hghftL 75000 0 0 75000

6.06.06 - gu< ljB'tLs<)f tyf dd{t ;_ef< sfo{qmd 37920000 0 0 37920000

6.06.06.01 - ljB't sd{rf<L kfl<>lds 5000000 0 0 5000000

6.06.06.02 - sd{rf<L sNof)fsf]if - ljB't 550000 0 0 550000

6.06.06.03 - ;_lrt ljbf - ljB't 300000 0 0 300000

6.06.06.04 - ladf lk|ldod vr{ - ljB't 50000 0 0 50000

6.06.06.05 - b'#{^gf ladf lk|ldod vr{ - ljB't 25000 0 0 25000

6.06.06.06 - :yfgLo rf*kj{ k|f]T;fxg eQf - ljB't 500000 0 0 500000

6.06.06.07 - vfhf eQf - ljB't 140000 0 0 140000

6.06.06.08 - kf]zfs eQf - ljB't 175000 0 0 175000

6.06.06.09 - pkrf< vr{ - ljB't 400000 0 0 400000

6.06.06.10 - ;*saQL dd{t tyf h*fg ;fd|uL vl<b 6000000 0 0 6000000

6.06.06.11 - ;*saQL lgoGq)f sfo{qmd 500000 0 0 500000

6.06.06.12 - ejgaQL dd{t tyf h*fg 1000000 0 0 1000000

6.06.06.13 - ;*saQL tyf ef}lts ;_<rgfsf] ljB't dxz'n 2500000 0 0 2500000

6.06.06.14 - ^«]S^< ^«nL dd{t ;_ef< vr{ - ljB't 100000 0 0 100000

6.06.06.15 - cf}hf< tyf pks<)f vl<b - ljB't 100000 0 0 100000

6.06.06.16 - cg'udg tyf lgl<If)f vr{ - ljB't 50000 0 0 50000



6.06.06.17 - ljz]if dd{t ;'wf< eQf - ljB't 50000 0 0 50000

6.06.06.18 - ^«]S^< OGwg - ljB't 200000 0 0 200000

6.06.06.19 - ljz]if eQf - ljB't 280000 0 0 280000

6.06.06.20 - ;f}o{ ;*saQL h*fg 20000000 0 0 20000000

6.06.07 - :yfgLo zf;g tyf ;fd'bflos ljsf; sfo{qmd Pn=hL=;L=*L=kL= 11742000 0 0 11742000

6.06.08 - ljsf; of]hgf sfof{Gjog tyf Joj:yfkg sfo{qmd 32650000 0 0 32650000

6.06.08.01 - k|fljlws sd{rf<L kfl<>lds 20000000 0 0 20000000

6.06.08.02 - sd{rf<L sNof)fsf]if - of]hgf 1650000 0 0 1650000

6.06.08.03 - ;_lrt ljbf - of]hgf 500000 0 0 500000

6.06.08.04 - ladf lk|ldod vr{ - of]hgf 110000 0 0 110000

6.06.08.05 - :yfgLo rf*kj{ k|f]T;fxg eQf - of]hgf 3500000 0 0 3500000

6.06.08.06 - vfhf eQf - of]hgf 330000 0 0 330000

6.06.08.07 - kf]zfs eQf - of]hgf 400000 0 0 400000

6.06.08.08 - pkrf< vr{ - of]hgf 500000 0 0 500000

6.06.08.09 - tflnd tyf e|d)f - of]hgf 100000 0 0 100000

6.06.08.10 - pks<)f vl<b - of]hgf 200000 0 0 200000

6.06.08.11 - ;e]{ tyf l*hfO{g - of]hgf 100000 0 0 100000

6.06.08.12 - cg'udg tyf lgl<If)f - of]hgf 100000 0 0 100000

6.06.08.13 - ^«s PShfe]^< dd{t ;_ef< 1000000 0 0 1000000

6.06.08.14 - ^«s PShfe]^< OGwg tyf cGo OGwg 1000000 0 0 1000000

6.06.08.15 - ;"rgf k|ljlw ljsf; Joj:yfkg tyf ;'b[l(s<)f hL=cfO{=P;= 2500000 0 0 2500000

6.06.08.15.1 - Ifdtf clej[l$ tyf cjnf]sg e|d)f - hL=cfO{=P;= 200000 0 0 200000

6.06.08.15.2 - :of^]nfO{^ Od]h ;km\^j]o< vl<b 100000 0 0 100000

6.06.08.15.3 - pks<)f vl<b tyf dd{t - hL=cfO{=P;= 600000 0 0 600000

6.06.08.15.4 - *f^fa]; lgdf{)f cBfjlws tyf k|aw{g 500000 0 0 500000

6.06.08.15.5 - tYo_fs ;_sng tyf cBfjlws 500000 0 0 500000

6.06.08.15.6 - cfO{=kL=^L= Ifdtf clej[l$ cjnf]sg ed|)f tyf sfof{Gjog 100000 0 0 100000

6.06.08.15.7 - d]l^«s &]ufgf k|)ffnL ljsf; tyf sfof{Gjogœdf;º 500000 0 0 500000

6.06.08.16 - œdf;º d]l^«s &]ufgf k|)ffnL 0 0 0 0

6.06.08.17 - ljz]if eQf - of]hgf 660000 0 0 660000

6.06.09 - hg:jf:Yo cg'bfg sfo{qmd 1800000 0 0 1800000

6.06.09.01 - gu< :jf:Yo lSnlgs sd{rf<L tna 1800000 0 0 1800000

6.07 - cWoog tyf k"FhLut k|fljlws k<fdz{ ;]jf vr{ 1000000 0 0 1000000

7 - nufgL 0 0 0 0

7.01 - z]o< nufgL 0 0 0 0

7.02 - C)f nufgL 0 0 0 0

8 - k"FhLut cg'bfg 1000000 0 0 1000000

8.01 - ;fj{hlgs ;_:yfnfO{ cg'bfg k'FhLut 500000 0 0 500000

8.02 - uf=lj=;= < gu<kflnsfnfO{ cg'bfg kF'hLut 0 0 0 0

8.03 - ;]jfd"ns ;_:yfnfO{ lbO{g] cg'bfg k'FhLut 500000 0 0 500000

9.02 - e}k<L cfpg] k'FhLut 0 0 0 0

s'n hDdfŸ 950058000 0 0 9.5E+08


